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Lista de Exercicio: Integragao por Partes

Resolver as seguintes integrais usando a técnica de integracao por partes.

1. / xsin(5x) dx

2. /ln(l—x)dx

3. / 16 di

4. / (x+ 1) cos(2x) dx
5. / xIn(3x) dx

6. / cos® (x) dx

7. / e cos(x/2) dx
8. / VxlIn(x) dx

9. / cosec® (x) dx
10. / 2 cos(ax) dx
1. / xcosec? (x) dx
12. / arc cotg(2x) dx

13. /e“x sin(bx) dx

In(ax+b)
vax+b

15. /x3\/ 1—x2dx

16. /ln3(2x) dx

14. dx

17. /arc tg(ax) dx

18. /x3 sin(4x) dx
Respostas:
1. =X cos(5%) + — sin(5%) +
- 5 ©08(5x) + 5z sin(5x) +c

2. (x—DIn(l —x)—x+c

19. /(x— e ™ dx

20. /len(x) dx

21. /xzex dx

22. /arcsin(x/Z) dx
23. /(x— 1)sec?(x) dx
24. /e3xcos(4x) dx
25. /x"ln(x) dx,neR
26. /ln(x2+1) dx

27. /ln(x—l— 1+x2) dx
28. /x arctg(x) dx

29. /xsex2 dx

30. /xcosz(x) dx

31. /(x+3)2ex dx

32. /x\/mdx

33. /cos[ln(x)] dx

34. /arccos(x) dx

35. / sec’ (x) dx

I
36. [ el dx
X
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.= Ecosec(x)cotg(x) + 3 In |cosec(x) — cotg(x)|+ ¢
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Excos(ln(x)) + 5% sin(In(x)) +¢

(4x34 exarccos(x) — V1 —x2+4c

%[sec(x)tg(x) +1In|sec(x) + tg(x)|] +¢
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